“ROKE(ZDNT)

1/200,000

(1/2000000 o - o (1/25,000
BARIRDIELE SERIHDERIE
BX—1(R) EHRES 425-1 -121(1)
THKEEZERRE - T KEFNERRXRE AERX E& 18E
AT TEHh IR 1B KMl BT 4L

COEIE, ELhIBERRDAZREF T, BREFEITOEIERE 200000 (Hh R ER) . R UEIEH 25000 (R ES) #EHL-2DTHD, (KEES FI0WE. F165)



= TP

-

ﬁm&%gggéggéy Qézggggf/
=%
L] 9
(]
8]
(]
&
5 o
= -
)
Y. =) - e T
v @ N R
et
T3 ﬁ\

0 25 &0 100
m

Bt—20A) THREHLE RIS EORECHYT R N BATRR
(AR

DiEEE AR O R EHES 425--121(1)
THKFEMRE - T KEFINERRIE  |wrenzz0 ~ " ETES el 12E
TEFOEROBEIAImERIDRE

wmR XRIETE

XiER (Zn1) AHITHATS

NE

=45 RS DR 1:2,500 (& ~FAH FEH: BRI OETAL






